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Systemsoflinearequations
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Any systemofeineg has or exactly one solution system consistent
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solving al system

idea use x term in eq to eliminate from theother equations
use xz term in eq to eliminate Xu fromtheothereg etc
obtain a verysimple equivalent linearSys Ci e withthesame solutionset
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Solving a tanSys we use theoperations for the augmentedmatrix we performthe corresponding
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replace aneq withitselfplus a multiple

interchange egu.at
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Cinterchange interchange two rows
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def Two matrices are raw equivalent iff they canbe transformed one into
anotherby a sequence of elem new operations
Reo operations are reversible
If theaugurmatrices of two ein sys are roueguivalent thenthe two systems

havethesamesolutionset

1.20 RowreductionandechelonformI

leading in a row leftmost nonvanishing entry
a rectangular matrix is in REF if
all nonzeronews are aboveZero news
eachleadingentry in a row is in a column to theright of
the leadingentry in a row above it
all entries in a column below a leadingentry are zero
pivotcolumns
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A matrix is in reduced row echelonform RREF if additionally
all leadingentries are I
eachleading 1 is theonly nonzero entry in its column
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Any matrix can be row reduced transformed by asequence of elem rov op
into morethanone matrix in REF However RR EF of a matrix is unique
Leadingentries are always in sane positionsforany REF of A
pivot positions A column containing apivotposition pivotdamn

Leadingentries in a REF of A pivots
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Row redactonalgorithe
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zeros above eachpivot If proof is not I make it 1 byrescaling roos
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